Problem 14.10

Find the trigonometric Fourier series coefficients for the waveform shown.
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[image: image2.wmf](

)

(

)

(

)

(

)

(

)

(

)

(

)

(

)

(

)

(

)

00

0

1

1

00

2

0

0

0

0

222

0

00

0

2

,4

2

1

112

1

2

0

44

cossin

cos

2

cossin

142

22

cos1sin

22

14

cos

42

n

n

n

n

EvensymmetryT

ab

nttnt

n

attdt

n

n

nn

ann

nn

nnn

aan

n

p

w

ww

p

w

w

pp

pp

wp

wwp

p

p

==

æö

ç÷

èø

===

éù

æö

==+

êú

ç÷

èø

êú

ëû

æöæö

ç÷ç÷

æö

æöæö

èøèø

=+-=-+

ç÷ç÷

ç÷

èøèø

èø

==

ò

2

1sin

2

n

n

p

p

æö

æöæö

-+

ç÷ç÷

ç÷

èøèø

èø


